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V Semester B.Gom. Exami nation, March/A pril 2022
(CBCS) (2016 - 17 and Onwards) (F+R)

COMMERCE
Paper - 5.5 : Elective Paper - | : International Financial Management

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be completely written either in English
or in Kannada.

SECTION _ A

.)zgod - o

1. Answer any five questions. Each question carries two marks. (5x2-10)

dsnd Snd;de €cd ddferi en:d0ru. gecood dqoJr" addr eoddddldooo&dd

a) What is Wealth Maximisation ?

dodd: rlo.\eddsa aodded: t

b) Differentiate between accounts receivable and accounts payable.

*rdre ardrf$ abd.: aiadgiud:oad endrls dd:cd draoriddl r^ldouro.

c) What is perfect capital markets ?

do{peor uodaaS dnd:Euflaodded: ?

d) Write any four examples of capital budgeting decisions.

atodan$ Clorld dgd &eoro3:d sEc.Dd en:endd#o$$, udo}:o.

e) Define business finance.
s  - x  - m 5 - - \  :  6 S  . \ '6?rmo 6m6Jrd) q8JDuiltu.

0 What is meant by business valuation ?

D.,md dPo"dnddd edrded: ?

g) Give the meanlng of Financial Risk.

uQrd erano$d efir aodde$ ?

P.T.O.
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aqnd - o

I |||tffi |||il ffi lllll lllll llll llll

Answer any three questions. Each question carries six marks.

ddnd o3ndde dlJo& d#eri w$o:,. da dd"Ct egcb eodrlddldooad:$d.

2. Discuss briefly the objectives of Financial Management.

draaoio &d r dd oJ: w geddddl doaSaso n edotu.

3. Explain the importance of working capital in business.

{doa ddO-d:a cud uodoadd dld*dq cdoxl

4. What is capital rationing ? Explain the factors determining capital ration'ing.

uodaod CIod:o$io aoddedr ? uodard eod:o$mddlndro-*ld eodddd1edo8r.

5. "Cost of debt is lower than the cost of equity share capital". Give reason why

even then a company cannot work only with the debt.

(3x6=18)

Cash inflow

5,00,000

4,00,000

3,00,000

1,00,000

&.4. q,Ddd,rd @ 1AT"

0.909

0.826

0.751

0.683

"-asd d?"j*d *SoF^3 dedc uodaoadd dz3.r6*od dadJo$Dnd ". beflddn dede:

xae.rdooorl dod0C> rao$r&drbier: udod:$dd* uadea &eG.

6. A firm has initial investment of t 25,00,000 and cash inflows as shown below :

Year

1

2

3

4

Find out NPV.

ddcb e.Sdo$

5,00,000

4,00,000

3,00,000

1,00,000

-gtd e{d dF euddl do d:Aa os:o.

P.V. factor @ 10%

0.909

0.826

0.751

0.683

uod: ioiudoqrd uodaad t 25,00,000 tS* drl* tddod dr ddnddd :
w

cJc{l

1

2

3

4
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SECTION - C
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Answer any three questions. Each question carries fourteen marks. (3x14=42)

ddnd C>$de dlJocb d#eri w$oa. ds 
-gd"o3r" da6roe? eoddddldoood$d.

7. Critically evaluate "Profit Maximization and Wealth Maximization" as two
important objective of Financial Management.

dmaci.*l Odrddof: add: d,dr:al erudeddsad "etorJ dodrtoe-apad d:d: er,q;
J 6 ) O _ . o _ o

do {rioet'oad " 
qd; rlddl aa3ra r {dar n a dJaA ar dos:o.

8. Explain various tools and techniques used for inventory management.

em;nd: &drddo$ dd.gdsb d:d: #dc.r"dd$ adoxr.
3 O - e a q .

9. What is Risk Management ? Explain different types of risks in the context of
International Business.

od* CIdrdd aodded: ? eroddoaduec: aaraadde)_ud$d ead {raddddlcdoxr.

10. Explain the techniques are used to ascertain the risk in capital budgeting
decision.

uodaad d::orld dgd Omro3:d0pd e;no$: elgsdda::dodoe.:.: clnd do$ddd1

u#aood. doffiarn ado&.

11. The following data are available in respect of 2 firms, calculate average cost
of capital and comment.

Firm A Firm B

Net operating income { 5,00,000 T 5,00,000

Interest on debt NIL t 50,000

Equity earnings T 5,00,000 { 4,50,000

Cost of equity share capital 15Y" 15Y"

Cost of debt NIL 1A%

Market value of equity share { 20,00,000 T 14,00,000

Market value of debt NIL t 4,00,000

Total value of firm { 20,00,000 { 18,00,000
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€r dddod d>Agor:od add> dod0ojr ue^p uodaapeddea dod;baor:o u$$ r^:dsd

udooro.

nd.d ro ojn rzJdsoJ: e:oa o$- o j

xnoddd ua
J @

mdnd, soao$

:odrq dedr uodanqeddea dd

nrod$d uodaaseddeo dd

:ndnd, de$ drD&dqod, uieS/dJte.r, T 20,00,000

sa e:@ d drE &dr{o$ aid/ atP e.r,

rn^gdodOod: #ei,

dodO A

{ 5,00,000

NIL

{ 5,00,000

15Y"

NIL

NIL

{ 20,00,000

dod0 B

{ 5,00,000

{ 50,000

T 4,50,000

15o/o

10/o

{ 14,00,000

t 4,00;000

T 18,00,000


